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Effort by Congress to settle the issue of
slavery in the territories that arose when
California was admitted as a free state.

Much of the population growth in the
North came from this.

U.S. senator from Massachusetts who
supported the Compromise of 1850.

Disagreements between the North and
the South, especially over the issue of
slavery, led to this.

U.S. senator from Kentucky who
proposed the Compromise of 1850.

According to the Compromise of 1850,
slavery was outlawed here.

Southerners were afraid that admitting
California as a free state would upset this
in Congress.

These type of differences can make
national problems difficult to resolve.

The Southern economy relied upon this.

Many workers in the North were against
slavery because they feared that slaves
could make them lose these.

U.S senator from lllinois who worked to
pass the Compromise of 1850.

A political party dedicated to stopping the
expansion of slavery.

Possible Answers:
abolitionists, balance of power, Compromise of 1850, Congress, Daniel Webster,
Free Soil Party, free state, gold, Henry Clay, immigration, industry, jobs, Little Giant,
plantation farming, political conflict, racist, regional, Stephen Douglas, Washington
DC, Wilmot Provisio
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According to the Compromise of 1850,
this law making body would not pass laws
regarding slavery in the territories.

A bill that proposed to ban slavery in
territories acquired from Mexico.

This brought thousands of people to
California.

A nickname for Stephen Douglas.

The Northern economy developed this
much more than the South.

California was admitted as a state to the
United States as this.

They believed that slavery was unjust and
should be abolished immediately.

Prejudice based on race.



